Buying Chips and Candy

Rubric

section
points | points

1. Gives a correct explanation such as:

It stands for the 375 cents that Ralph spent. (Must have correct units)

2. Writes a correct equation such as: 4p + 2b =300

Partial credit

For an almost correct equation. (Left hand side of equation must be correct)

(1

3. Gives correct answers: 45 cents or $0.45
and
60 cents or $0.60

Shows correct work such as:
8p+4b=6

subtract 3p +4b =375
5p =225
P=45

4 x 45+ 2b =300
2b =120
b =60

Partial credit
For some correct work.

2x1ft

2 ft

(1 ft)

4. Gives a correct answer: no
and
Shows a correct calculation such as:
0.60 +0.45=1.05

2 ft

Total Points

10
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